3-Digit Column Subtraction

1 2 3. 4
3 7 4 8 7 6 4 9 7 6 4 9
1 2 - 4 1 6 - 5 4 -3 7

5 6 7. 8
7 0 8 4 3 5 1 8 6 2 0
3 5 -1 2 7 - 9 1 -1

10. 1. 12.
5 4 9 6 0 3 3 4
7 - 7 3 - 6 1
2 7 5 3 3 6 3

13. A baker bakes 248 iced buns. He sells 195. How many buns does he have left over?
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3-Digit Column Subtraction Answers

1 2 3. 4
3 7 4 8 7 6 4 9 7 6 4 9
1.2 3 - 1 -2 4 - 3.2 7
2 5 1 6 O 2 4 3 3 2 2

5 6 7. 8
7 0 8 4 3 5 1 8 6 2 0
3 5 -1 2 - 9 1 - 1.0
3 4 3 3 0 8 9 5 1 5

10. 1. 12.
5 4 6 0 3 312 | 4
2|7 |4 -1 2|7 -1216 1
2 7 3 3]0 6 3

13. A baker bakes 248 iced buns. He sells 195. How many buns does he have left over?

2 4 8
1 9 5
5 3
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